H & 0l & AHS B Ml A

WSHE
AgES) NS0 &4
SEH WSS EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ZH 1t 25,503,509 28,283,342 N2,779,833
= 1,148,000
Jl 1,267,546
= 783,971
Al 22,303,992
el wsoAd x4 21,332,632 24,304,323 A2,971,691
= 528,000
= 783,971
Al 20,020,661
X0 H=zusS 21,332,632 24,304,323 2,971,691
= 528,000
= 783,971
Al 20,020,661
OISkt =4 UEusS US| A 90,000 98,500 28,500
201 er2 3| 5,000 13,500 /8,500
01 AtR2te|HI 5,000 13,500 28,500
oolElt 4 tsus 2H=J1 A 5,000
308 AFAIEHMSOIE 85,000 85,000
13 SI[2SOHE & EAS A 85,000 85,000
O0IZi =4 Hsns 2SIl A 85,000
SEXE RA2e 2,000 2,800 A800
201 er23| 2,000 2,800 A800
2 s5=4g4l 2,000 2,800 A800
O=EXEY FAl2c 2,000
SAG2e/AAE F A2 40,743 40,743
201 er23y| 40,743 40,743
02 S3=gHl 40,743 40,743
O2=AtHZCIAIAE X2t 40,743
HASUAAXCIAIAE SHOIX KX2e] 21,772 21,772
201 =3 271,772 21,772
2 S22l 271,772 21,772
OZASUIAXCIAALE SEHIOIX FXl2c 21,772
SgussH TUEX 106,000 250,000 144,000
= 49,000
== 24,500
Al 32,500
405 KHaHE SH 106,000 250,000 144,000
= 49,000
S 24,500
Al 32,500
01 ML ESFISHI 106,000 250,000 144,000
OE2usSs+H TYEX 106,000
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B AQIBOl DEOH XA
=@t 2880 HsusS (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 49,000
=S 24,500
Al 32,500
SEussH o - HXE 7 530,000 200,000 330,000
= 245,000
S 122,500
Al 162,500
405 AtatsE = 530,000 200,000 330,000
= 245,000
= 122,500
Al 162,500
01 ML ESFSHI 530,000 200,000 330,000
OSEZusS=t U - WX 530,000
= 245,000
= 122,500
Al 162,500
Hsus 243 =d 15,000 18,000 /3,000
203 HR=4AY] 15,000 18,000 /3,000
03 A= PR S| 15,000 18,000 23,000
ousus 243t =8 15,000
OAXSXEDOIE EHIAS 180, 160 192,117 A11,957
[ 80,160
Al 100,000
402 QI>F X201 & 180, 160 192,117 A11,957
< 80,160
Al 100,000
02 QI X2 AL EE(0IETHE) 180,160 192,117 A11,957
OAAHAEDIE 90,560
= 40,560
Al 50,000
OLSHARDIE 89,600
== 39,600
Al 50,000
H=AAL HEALE =& 489,000 733,000 A244,000
308 XXM SO0IH 489,000 733,000 A244,000
18 SIS0t 4 A A A 489,000 733,000 A\244,000
OBFAAL HEALY =& 489,000
sS4 FAl2c 21,800 60,600 /38,800
201 er23| 2,600 2,600 0
01 AtR2t2|HI 2,600 2,600 0
OL&s AAHA 2H0IEFA SHEA 0
=3 2,600
401 AIEHIZ SR OHYI 19,200 58,000 A38,800




SN DEFBY
M ANYESY WS0HA X9
ol 2EHe HEusS EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 19,200 58,000 38,800
OosZd =& 19,200
BARs Jtes2 A2AY 1,719,432 1,623,881 95,551
= 383,566
Al 1,335,866
307 @120l & 1,719,432 1,623,881 95,551
== 383,566
Al 1,335,866
09 2=FAHEXS 1,719,432 1,623,881 95,551
OHAIRE a2 KEAY 1,719,432
[ 383,566
Al 1,335,866
BARs JtESHE KE A 242,484 246,510 AN4,026
= 72,745
Al 169,739
307 el2to| & 242,484 246,510 4,026
S 72,745
Al 169,739
090 2FHHEXS 242,484 246,510 A4,026
OYAIRS H=SEE KA 242,484
== 72,745
Al 169,739
BA2Y FE2lAAE [t 44,300 41,000 3,300
308 XXM SO0IH 44,300 41,000 3,300
18 SIS0t & A AS A 44,300 41,000 3,300
OHAI2Y H22elAIAE S22 44,300
SAIZRE NI SALS 1,320,000 1,320,000 0
= 234,000
Al 1,086,000
307 @120l & 1,320,000 1,320,000 0
= 234,000
Al 1,086,000
09 2=FAHEXS 1,320,000 1,320,000 0
O=IAIZRE XI&AHY 1,320,000
= 234,000
Al 1,086,000
EUAl CHEHIZH XI2AHY 70,500 0 70,500
= 70,500
307 212+01& 70,500 0 70,500
< 70,500
QB 2=gHEXS 70,500 0 70,500
O&IAl THHIXF XIEALS 70,500
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A NSEM
M AlIEY D0 X
ol 280 HsusS EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
09 2+AE2LS 15,000,000 17,000,000 /2,000,000
02+ RNEXS X (HA BALEE) 15,000,000
ENSA SSIIX 2 216,341 50,000 166,341
309 HES 216,341 0 216,341
01 SAL- SHEYNES 216,341 0 216,341
Ost=XsSAt S 24 216,341
AL &0 K& 0l 43 A 51,000 51,000
201 et 3| 48,000 48,000
03 A2 I 48,000 48,000
OAIZI H0f XH&EH Al 48,000
301 EtE NS 3,000 3,000
11 dAMEEIXIZE S 3,000 3,000
OAIZI 0 & Al 3,000
A 2SIEA Wd 29 2,100 2,100
307 elzto| & 2,100 2,100
02 2IZHBYAIHE A 2,100 2,100
OA2l REXNEAN wd 24 2,100
A& OISAIE EHI 500,000 1,003,000 503,000
401 AIEHIZ SR THYI 500,000 1,003,000 503,000
01 Al&HI 499,000 1,000,000 /501,000
OXENH OIZAIE Ei 499,000
03 Al 20HHI 1,000 3,000 /2,000
OX&EH 0IEAIE &bl 1,000
HIIREA 2 X2 30,000 30,000 0
402 2I2FX+=01 & 30,000 30,000
01 QI X2 AL E R (KEHITHE) 30,000 30,000
OMIINEA 7L X 30,000
WS SEuS 2E 2,912,466 1,997,900 914,566
= 620,000
Il 1,267,546
Al 1,024,920
A2 dES 2,912,466 1,997,900 914,566
= 620,000
) 1,267,546
Al 1,024,920
WS SEuSs 29 1,572,466 1,370,900 201,566
Il 907,546
Al 664,920
3090 HES 1,562,466 1,360,900 201,566
7l 897,546
Al 664,920
01 SAL- SHEYTES 1,562,466 1,360,900 201,566
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A NSEM
M DSUF AL
Chel: NSoHM Al” 2d2c) EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 250,000 500,000 250,000
01 Al&H| 250,000 500,000 250,000
OSAE HASHOHASHAD|(BIT) &X 250,000
AZE0He! Sl EXI 10,000 20,000 10,000
401 AlEHIZ S 0HHI 10,000 20,000 10,000
01 AlZH| 10,000 20,000 10,000
OAIZEL! SerIsI| Xl 10,000
L WSOHHMZE W 180,000 335,000 155,000
401 AIEHIZ SR HYI 180,000 335,000 155,000
01 Al&HI 180,000 335,000 A155,000
OL= WSHHHZE Wil 180,000
e NSSSAEE OV WA 24,000 48,000 24,000
401 Al HIZL 201 24,000 48,000 224,000
01 Al&H| 24,000 48,000 A24,000
o= WSSSAEE TV WKl 24,000
AH2LIH(LSFHD) 476,411 369,296 107,115
o2t (nsSy =) 409,662 288,670 120,992
H2IH(RSE L) 409,662 288,670 120,992
101 e124d| 409,662 288,670 120,992
01 &= 409,662 288,670 120,992
OAIRAZ 25 409,662
Jl2dbl(nsSE M) 66,749 80,626 13,877
Jl2dbl(nSE ) 66,749 80,626 13,877
201 Let=23 | 39,890 45,118 Nb,228
01 At2teltl 37,590 43,618 6,028
Odgt+==H| 20,240
O] 17,350
2 S22l 2,300 1,500 800
0Z33x2= 2 HMAl 2,300
202 04l 20,109 28,008 AT,89
01 SLHoIH 20,109 28,008 NT,899
OJ|2gFFaoil 20,109
203 gR=2| 6,750 7,500 AT50
01 D[22 PR FA| 2,970 3,300 A330
osus=% 2,970
MU FAZSHIFII 3,780 4,200 NA20
ORMEIE =
315,000& * 122 3,780




